—

-Ill the gaps

()-8 [5
- []=[:
- [e]=[3
(- (5=
Fill the gaps

[1]4]- [e] = [e]
1/a|-] |=]7
(4]~ [=[s]
[11a] - [ =[s]

Spot the pattern

Spot the pattern

SUBTRACTION

| SEE REASONING = K51



True or false? v x

v 8-5=3
5+3:B - & . 5—8:3
-4 - 3

J
8-3=5 8=56+3
3+5=8

True or false? v x

13-8=5
13—5‘58 13 13=5+8
| |5| ]
B B -
5-13=8 13-5=8
5=8+13

SUBTRACTION | SEE REASONING - K51



—

Which way?

900 13-9=| |

Take all 9 from
the full 10-f lake some from
cv rame both 10-frames

Which answer?
[ ]-2=5
7y U

Which answer?

10 =

-3

7

SUBTRACTION

| SEE REASONING - K51



-

True or false?
12-9=|3

5 6 15
14-8=|/
o e e e e
LN NN NN NN
/ IN

SUBTRACTION | SEE REASONING — K51



The same... different...

0 1 [—20 7]

7 | —p 17 [

7
10-7= | 20-17=[ |

The same... different...

‘ :I.l'.; | — 20 ?

10-2= 2012 =
KNOW... SO...
10| 20-6=] | 10-4=] |
. E— p— —
e 14" p016=[ | 20-4=[ ]
10-6=4 0. ¢0= 20-14=:

I ————
SUBTRACTION | SEE REASONING = K51



